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Zu: Tuod e
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otM A &t 27,573,157 20,212,179 7,360,978
= 2,321,762
Xl 9,133,800
= 1,520,494
s 14,597,101
M ehord 2ke| 253,969 232,480 21,489
2 7,895
< 9,348
[ia 236,726
TH &H Ol 2 AL 181,398 160,200 21,198
= 3,100
[ia 178,298
THol2=&Hl =X 22 16,000 16,000 0
201 et 16,000 16,000 0
02 2324l 16,000 16,000 0
OMoi2=&Hl RA22 16,000
MHet&EH |X2el 140,498 113,600 26,898
201 £B-2dH| 57,733 50,000 7,733
02 =24l 57,733 50,000 7,733
OMLtZHl |X2eltl 45,733
OS4EsEAAH 722
19,733,000& 14! 19,733
OMH2 & X2
20,000,000 =14 20,000
Ogaz A FX 22 3,500,000 14 3,500
OMEH E= 500,000& *5& 2,500
OMHEH 28 223223 % HAl 12,000
OfIdE3I MNERS 20,0003 «6CH*123 1,440
Otz Z2H 823 150,000&+12& 1,800
OMH2UHEZE SRS 30,000& 122 360
OLEANAE SR 10,0003 501 1228 600
OMHMBEANAE SAR=
250,000& »12& 3,000
OS4EdSEAALH S4R2=  300,000&+123 3,600
OPEM-NOP(bizAZAH)EE MERS
100,000& =122 1,200
401 AIEHIZ 28I 60,600 63,600 A 3,000
01 A& Bl 60,600 63,600 A 3,000
ONSSHEZANAE MR &
20,200,000 =34 2= 60,600
405 THabH S| 22,165 0 22,165
01 AL = ZFH SHI 22,165 0 22,165
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SN ALY
Nz THLEOHA 2He|
CHel: ROIOHE oAl 23t CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 3,500
01 AP 22| d| 10,000 0 10,000
O s2J AHIDE gS§=s&AH 10,000
= 5,000
o= 1,500
= 3,500
oA S XSG L FHHX A 585,000 120,000 465,000
= 210,000
=} 63,000
= 312,000
THoH Ol 2 AFS 585,000 120,000 465,000
= 210,000
= 63,000
= 312,000
Mol/I& 20 MAHAY 165,000 120,000 45,000
401 Al HI L £ 0HHI 165,000 120,000 45,000
01 Al& H| 165,000 120,000 45,000
OMMHAE 2 MAHAIE 165,000
O3 MHHlAE 22 HHALE 20,000
OY AR T THHlAE 22 HHAE 10,000
OLLAMXNT MolAE 22 HHAE 20,000
OAEX T THHlAE 22 HHAE 25,000
O8HEXNT MlAE 22 HHAE 20,000
OWRX P HolAE 22 HAHA 20,000
OHI=ZXN T MHlAE 22 HAHAE 20,000
ONdES22K 7 MMoHAE 2 HHAL 30,000
THoH 918 XIS FHI (2B AX) 120,000 0 120,000
= 60,000
& 18,000
= 42,000
401 AlEHIZ 2 0HY| 120,000 0 120,000
= 60,000
& 18,000
= 42,000
01 Al& H| 119,000 0 119,000
OSM3XN T sSUAEXNAE HHAIS 119,000
= 60,000
== 18,000
= 41,000
03 Al&E 201 Y| 1,000 0 1,000
OsU/AE XN HH AIEL20UHH] 1,000
MoHAS XN A A (MHAE X 2) 300,000 0 300,000
= 150,000
& 45,000
= 105,000
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© XHoH Ol 2 ALY

DO AL

[

He
i
12
b
12
0
o

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 300,000 0 300,000
2 150,000
< 45,000
s 105,000
01 A& HI 298,000 0 298,000
OXEW XNATHHAZ ML X7 HHIAL 298,000
= 150,000
< 45,000
s 103,000
03 Al S THHI 2,000 0 2,000
OMHAE XN T2ZHl AL R 2,000
SN2 € ot 11,202,403 9,193,588 2,008,815
2 2,100,000
X 2,488,000
< 567,000
s 6,047,403
SR XA 212,803 202,988 9,815
= 7,000
s 205,803
Hgtes=2+2 181,723 173,908 7,815
201 Let24d] 159,200 151,200 8,000
01 At 22/l 159,200 151,200 8,000
OXioHCHEl &HHl LX=(EHS.stol. &al)
600,000& x2S 9L x 14 S & 151,200
OMoHAE X HEXE AX 400, 000& *204 2~ 8,000
302 Ol THoH E&F = 22,523 22,708 A 185
02 QIZHITHOH R EF B S 2N = 22,523 22,708 A 185
OMHHY 2 =7 FHoioz aly
7,000 «10E 52«14 S & 4,900
oMUY & =7 &0 IR
1,650 1104 3L +14HSH 7,623
OMLXAS 10,000
TH <t AFE CH I 12,900 11,900 1,000
201 et 6,500 5,500 1,000
01 AtS 22l H| 6,500 5,500 1,000
OMOATHHCHY EEHSOHS HE
60,000& x50 3,000
OEZZoLun == 3,500
SOHREH O0FE &X 400,000 «54 & 2,000
OFZugts =222 MA 1,500
206 = Hl 6,400 6,400 0
01 MHZ 4l 6,400 6,400 0
O+ t¥ES ¢ 5,000




SM: EASD
Y 23X L GHEE

= = o

T

SHol =ZRX ALY (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

ONM& 38 ¥ XX #¢ 100,000 *14 & ™ 1,400

E4EE 18,180 17,180 1,000
= 7,000
= 11,180

201 LEt29Y| 4,180 3,180 1,000

01 AFR2t2l bl 4,180 3,180 1,000
OZxdl28 JIgd=ssE 4,180

Oga+2 H&E % &X

60,000& 23| 14 S ™ 1,680
O=s2=2 HM&E Y =2 1,000& *1,500% 1,500
OS+dlE8 It A5 7Y 1,000

307 QI2t0| ™ 14,000 14,000 0
= 7,000
= 7,000

02 DIZtBAAMEE X 14,000 14,000 0
OExdl2E B2 14,000
= 7,000
= 7,000

ot Al AFY 10,989,600 8,990,600 1,999,000
= 2,100,000
N 2,488,000
& 560,000
= 5,841,600

StEJ|IA M & 211,000 180,000 31,000

201 Bt A | 131,000 60,000 71,000

01 AP 22l Yl 131,000 60,000 71,000
ogsd JIHH U= 5,000
oY JI&H U= 5,000
OS8d JIH8H U= 8,000
OMAEZ JIEH U= 6,000
OZ&A JI&H U IXHZ 6,000
Odstd JI&H U= 5,000
O JI&EH U IXHZ 5,000
OgE JI&H UL 10,000
OF0t& JI&H UYL= 5,000
oZsaE JIEH EHYEXHE 10,000
O8dA JI8H Bl XE 10,000
oA=& JIHH U 10,000
OQHAE D& H EHIXH=Z 6,000
OAHAGHA JIM8H HHSXHZ 10,000
O+l A6tE JIEM HBIYXE 15,000
OXesotd & ActA JIAMAEY EH A2 15,000

401 Al HI YL 2 0HHI 80,000 120,000 A 40,000




M AL
Iu: =23XE L od I
& SHEEHIALE (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 80,000 120,000 A 40,000
O4sd JdMEHIAY 20,000
OHHEA JIE AU A 20,000
S G HMEHIALY 20,000
OZ2d JIEMEH AL 20,000
of& HE X & A X 25,000 25,000 0
401 AIEHIZL 20 25,000 25,000 0
01 A& Hl 25,000 25,000 0
OGSt EXE & StEAIEZS &X
5,000,000& =54 A 25,000
StEsAZel(Ex) 280,000 290,000 210,000
< 140,000
[ia 140,000
401 AIEHI L 201 280,000 290,000 A 10,000
< 140,000
[ia 140,000
01 A& tl 280,000 290,000 A 10,000
OFEL KA 2elAt 60,000
< 30,000
e 30,000
O+=2d FAZelAtY 40,000
= 20,000
[ia 20,000
OFEgd KA ZelAY 60,000
< 30,000
s 30,000
OFEE KA ZElAY 70,000
< 35,000
[ia 35,000
OULdE KA ZelAtY 50,000
< 25,000
s 25,000
St X2el (RHA) 160,600 175,600 A 15,000
201 Let249] 600 600 0
02 =224l 600 600 0
O&sSA =2 MIIR3 50,000& x12& 600
401 Al HI L 2l 160,000 175,000 A 15,000
01 A& HI 160,000 175,000 A 15,000
OA&X&E KA ZclAY 20,000
OdstdE |AZelAY 30,000
Oz4E KR ZelAtY 30,000
O=& FAZclAY 40,000
OZ2d KA ZElAY 40,000




M tAEAA
M SRXF & ot FHI
St EHIALS (9 ® =)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
2ot Z | 4,981,000 4,607,000 374,000
Xl 2,488,000
= 2,493,000
401 Al Bl 28I 4,981,000 4,607,000 374,000
X 2,488,000
i 2,493,000
01 A& Bl 4,976,000 4,600,000 376,000
OGAGHE FHIAY 342,000
Xl 171,000
= 171,000
OsXsactd EHIALS 712,000
Xl 356,000
s 356,000
OSHAGHE FHIAY 1,820,000
Xl 910,000
[ia 910,000
O&E140tE HHIAY 1,382,000
Xl 691,000
i 691,000
OFe A0t FHIAY 360,000
Xl 180,000
[ 180,000
C"R Aot HUIALY 360,000
Xl 180,000
s 180,000
03 Al =20 HI 5,000 7,000 A 2,000
AGHE FHIALY Al 201 5,000
LOHEIMNE ALY 667,000 520,000 147,000
401 Al& I 28I 667,000 520,000 147,000
01 A& HI 667,000 520,000 147,000
OEZ1A5tE MHESAS 50,000
Obls4otd HE=ALS 20,000
022 40t& HE>ALS 40,000
OYHAGHE HESALS 22,000
O3MAGHE HESALS 15,000
Ozt AotdE HES=ALS 40,000
OAHSHTPAMAE HE=FAL 30,000
O=22d4otd HESALS 20,000
OZ&AGHE HE=AS 30,000
O=2J/A0tE HE=AS 15,000
OE =40t HES=AS 50,000
OEAA0HE HWESALS 30,000
OEA0HE MHES=ALS 20,000
OstsA0tE HESALS 35,000




SN EALTY
gz 532X & oAl
thel: St E AL (9 ® =)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OHIZAGHE HE=ALY 20,000
OOtEACHE HE==AY 30,000
OMEALTHE HEFALY 25,000
OFR3AL0tE HEFALS 20,000
O2LI|xctd FHHISA 35,000
OgdsAotd HE=AEY 20,000
OA1E otEFHIAY 100,000
AotE S 22 1,070,000 855,000 215,000
401 Al HIZ 201 I 1,070,000 855,000 215,000
01 A& HI 1,070,000 855,000 215,000
OUAOIEMAE SRl At 40,000
OO0l AHE KXl At 50,000
O83HE SXZElAY 30,000
OHEAHNE KX 2l A 20,000
O+=ASUHAAE SA2c|At 25,000
OAM=20tE FA 22 ALY 30,000
OSEA0HE FAZClAY 40,000
Os=20td A2 ALY 30,000
ORZXNZAHE SFAZelAY 20,000
ONSOIEAME SA 22l AtY 20,000
OM=A0HE KAZCl ALY 30,000
OS3&ActE FX 2l At 25,000
OE=240td KA ZClAY 20,000
OSXIOIEAMAE S A2l At 20,000
OEXGHE KA 22l ALY 30,000
O=HYAdtd X2l At 20,000
OZEAHNHE X ZEl A 30,000
OLZI0ISAE |SAZelAY 25,000
OZSNAE X ZElAY 30,000
OdlelNE KX 2l At 35,000
OYsSA0IE X2l At 30,000
OsZadtd RAZClAY 60,000
OZBMNE FX2ClAS 20,000
Ozted1actd S 2l ALY 20,000
OXMOIME SX2Zel At 90,000
OR 0= otd HHIZA 40,000
OZEXE HA ZFHISAM 20,000
OZHHOISAME S A2l At 20,000
OJNSOEAMA SR 2l At 20,000
OAZOIESAME KA 2l At 20,000
OSSN T M&E ZHISA 20,000




AN AL D
Ba: =22%8 2 5EFY|
& SHEEHIALE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZH H&E EHISA 20,000
Ot= (MM ZHISA 30,000
O=d(=32)0tS MAE ZHISA 25,000
OFLHOIE MAE HUIZA 25,000
OGtA M& HHISA 20,000
O8s HN&E ZHISA 20,000
ANSSHEFH (&2 2 =4) 3,505,000 2,263,000 1,242,000
= 2,100,000
= 420,000
i 985,000
401 AIEHI L 201 3,505,000 2,263,000 1,242,000
= 2,100,000
< 420,000
[ia 985,000
01 A& Bl 3,300,000 2,158,000 1,142,000
ONddE neto 2 ZEAY A& 3,300,000
= 1,980,000
< 396,000
e 924,000
02 2feldl 200,000 100,000 100,000
ONdd neto & ZdAY Zeldl 200,000
= 120,000
< 24,000
[ia 56,000
03 Al 2 0HHI 5,000 5,000 0
ODNHEHE neto 2 ZAAY AIERUH 5,000
SHEZEHIDI ALY 70,000 55,000 15,000
401 Al HIZ 201 I 70,000 55,000 15,000
01 A& HI 70,000 55,000 15,000
ondgd ZHIJIAY 5,000
oUH=a SHIIIAY 5,000
oXx2=d SHIIIAY 5,000
Osdd SHIIIAY 5,000
o8& ZHIJIAY 5,000
OAMEZ SHIJIALY 5,000
Oasd SHIIIAY 5,000
oA SHIJIAY 5,000
ogdY SHIJIAY 5,000
OZ2d EHIIIALY 5,000
OMNEE EHIJIALY 5,000
OHEE SHIJIALY 10,000
ontd ESHIJIALY 5,000
otd DIZ8X 24 20,000 20,000 0




AN AL D
Ba: =22%8 2 5EFY|
& SHEEHIALE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 20,000 20,000 0
01 A& HI 20,000 20,000 0
o0l 82 EX 243 20,000
HESHEHAZ L 856,666 916,666 A 60,000
FOIME HONS 856,666 916,666 A 60,000
SHESZS - JI28 22l 856,666 916,666 A 60,000
201 LB-2dH| 397,566 397,566 0
02 =224l 397,566 397,566 0
03223 % HA 361,836
OE¢ts ¥ IJHI28 &I
4,370%%6,900S x128 361,836
OA & ZHl R Xl 35,730
OfzstdEdAs== 8, 1843 800 6,548
Oi& Bt B H 2 48,6203 *604 2 2,918
O1200| SUHEEI (2 AASE )RR B2
400,000& x5 2,000
OJl28 AH St23 372,000& 128 4,464
ONZSEAS ZMA AAE RAES
1,650,000& »12& 19,800
401 A& HIZ 201 Y] 459,100 519,100 A 60,000
01 A& HI 457,900 517,900 A 60,000
OsHEZAS4AX 600,000& 1005 60,000
O=ItZ2s U 1,500,000& »100S 150,000
OMNZ2s - 22tS EHl & RN 247,900
ONzs . BasmNES I
37,000& x6,700S 247,900
03 A& =2 THHI 1,200 1,200 0
O=s0E 2ots - 254X 20U 1,200
=E&ds & 14,062,468 9,137,160 4,925,308
X 6,645,800
< 850,460
s 6,566,208
Xl ot==2t 2 48,368 48,010 358
< 6,000
[ia 42,368
Aot =22 A 2te| 12,108 19,900 ANT,792
201 L2 | 12,108 9,900 2,208
01 At 2teltl 3,000 0 3,000
OJt= =X =9 Xiots =& AM 3,000
02 3322l 9,108 9,900 AT92
OXcte EX2=L MM3U=2
8,000 *230H A+ 12 2,208




2N

&
Ha: sE25 X
& Xat=2e| (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXicte EX2=L AZZH S22
300,000 *23H 2~ 6,900
D NGXlot=2c?da 29 1,260 1,260 0
201 £B-2dH| 1,260 1,260 0
01 At 22l 1,260 1,260 0
Ondz XNSXot==2el?ds HFA+=E
70,0003 x9H #23| 1,260
Kot OIE&EH =AM B9 LIS FLASFAY 35,000 25,850 9,150
< 6,000
i 29,000
401 AIEHI L 201 35,000 25,850 9,150
= 6,000
s 29,000
01 A& Bl 35,000 25,850 9,150
OXicts OlSAEH EA 89 2 X3 4
=22 20,000
< 6,000
2 14,000
OYXE A&a=7 2,000,000 *5H 2 10,000
OXct=g& AN EH 5,000
=G MADBHE Y 7,620,100 5,458, 150 2,161,950
Xl 2,170,000
< 269,000
[ia 5,181,100
A2 R2sHI|EHAIE FHI 4,474,100 3,539,800 934,300
201 et Y| 40,000 40,000 0
01 At 221l 5,000 5,000 0
OsYIIEAIE 2557 FHEXME 5,000
02 =224l 35,000 35,000 0
03323 % HA 15,000
O A& & HlS X bl 20,000
401 AIEHIZL 2] 4,234,100 3,199,800 1,034,300
01 A& HI 4,234,100 3,199,800 1,034,300
sIIAEHH (52, Ei+2 S) 3,075,000
O=aXl+ Eti=2 EHISA 85,000
O2deX 7 EH==2 HHIZ A 60,000
OO0IZX+ SZEHEITIAM 25,000
OFEXN T sZHIHIAM 40,000
OZEXN T ti==2 ZHISAM 25,000
O+ sZ2EESAM 25,000
O EXNT =HIILAIE EHI 25,000
O EX+ == HHISA 25,000
OEsXN+ =2 ZHISA 35,000




A A AA D

M =EHs X2

el =M A B CEEED

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OEHIT S22 ZHIAY 10,000
O2EXNT S22 ZHIAMY 20,000
OM=2XF =222 EHHI ALY 40,000
OME= Eti=2 HH|lSA 30,000
OXSXF EHix=2 HUISA 20,000
OREXF =I|eAIEEHI 20,000
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